Ratio

0.8

....l ..... . :....“..\..‘--:--".I..

-10 -8 6

—420246810

[ pull of goverp parameter |

res

107!

1072

107

10

€; .0f
nstant 0.0k
can o9

o a —
T lop e
o E P
iy Sieeed
O B O S St At SRR AT
. PPy s oy PPy P Py
-10-8 6 -4 -2 0 2 4 6 8 10

= BVl B o

[pull o

f @parameter |

107}

1072

1073

Ratio

10-8 6 4-20 2 4 6 8 10

[ pull of dxy parameter

107}

1072

Ratio
=

106 6420 2 4 6 810

[ pull of 6 parameter |

107}

1072

1073

10

Ratio

.L086420246810

[ pull of dz parameter

107}

1072

TIes o0
@s]s%%‘(n 8
S RRE R SRR R S el -0
[ -0.0
- i

T IIIIIIII
N

D

<

1 1
ESTRSY
o BNy
paohd]

.L086420246810



	Contents
	Page 1


